

Class of Semihyperrings from Partitions of a Set

A. Asokkumar

Department of Mathematics, Aditanar College of Arts and Science,
Tiruchendur- 628216, Tamilnadu, India.

ashok_a58@yahoo.co.in

Abstract

In this paper we show that a partition $\{P_\alpha : \alpha \in \Lambda\}$ of a non-empty set S , where Λ is an ordered set with the least element α_0 and P_{α_0} is a singleton set, induces a hyperaddition $+$ such that $(S, +)$ is a commutative hypermonoid. Also by using a collection of subsets of S , induced by the partition of the set S , we define hypermultiplication on S so that $(S, +, \cdot)$ is a semihyperring.

Key words: hypermonoid, semihyperring, *-collection.

MSC 2010: 20N20.

1 Introduction

The theory of hyperstructures has been introduced by the French Mathematician Marty [11] in 1934 at the age of 23 during the 8th congress of Scandinavian Mathematicians held in Stockholm. Since then many researchers have worked on this new area and developed it.

The theory of hyperstructure has been subsequently developed by Corsini [4, 5, 6], Mittas [13], Stratigopoulos [16] and various authors. Basic definitions and results about the hyperstructures are found in [5, 6]. Some researchers, namely, Davvaz [7], Massouros [12], Vougiouklis [18] and others developed the theory of algebraic hyperstructures.

There are different notions of hyperrings $(R, +, \cdot)$. If the addition $+$ is a hyperoperation and the multiplication \cdot is a binary operation then we say the hyperring is an Krasner (additive) hyperring [10]. Rota [15] introduced

a multiplicative hyperring, where $+$ is a binary operation and \cdot is a hyperoperation. De Salvo [8] introduced a hyperring in which addition and multiplication are hyperoperations. These hyperrings are studied by Rahnamani Barghi [14] and by Asokkumar and Velrajan [1, 2, 17]. Chvalina [3] and Hoskova [3, 9], studied $h\nu$ -groups, $H\nu$ -rings.

In this paper, by using different partitions of a set, we construct different semihyperrings $(S, +, \cdot)$ where both $+$ and \cdot are hyperoperations.

2 Preliminaries

This section explains some basic definitions that have been used in the sequel.

A *hyperoperation* \circ on a non-empty set H is a mapping of $H \times H$ into the family of non-empty subsets of H (i.e., $x \circ y \subseteq H$, for every $x, y \in H$). A *hypergroupoid* is a non-empty set H equipped with a hyperoperation \circ . For any two subsets A, B of a hypergroupoid H , the set $A \circ B$ means $\bigcup_{\substack{a \in A \\ b \in B}} (a \circ b)$.

A hypergroupoid (H, \circ) is called a *semihypergroup* if $x \circ (y \circ z) = (x \circ y) \circ z$ for all $x, y, z \in H$ (the associative axiom). A semihypergroup H is said to be regular (in the sense of Von Neumann) if $a \in a \circ H \circ a$ for every $a \in H$. A hypergroupoid (H, \circ) is called a *quasihypergroup* if $x \circ H = H \circ x = H$ for every $x \in H$ (the reproductive axiom). A reproductive semihypergroup is called a *hypergroup* (in the sense of Marty). A comprehensive review of the theory of hypergroups appears in [5].

Definition 2.1. A *semihyperring* is a non-empty set R with two hyperoperations $+$ and \cdot satisfying the following axioms:

- (1) $(R, +)$ is a commutative hypermonoid, that is,
 - (a) $(x + y) + z = x + (y + z)$ for all $x, y, z \in R$,
 - (b) there exists $0 \in R$, such that $x + 0 = 0 + x = \{x\}$ for all $x \in R$,
 - (c) $x + y = y + x$ for all $x, y \in R$.
- (2) (R, \cdot) is a semihypergroup, that is, $x \cdot (y \cdot z) = (x \cdot y) \cdot z$ for all $x, y, z \in R$.
- (3) The hyperoperation \cdot is distributive with respect to hyperoperation '+', that is, $x \cdot (y + z) = x \cdot y + x \cdot z$ and $(x + y) \cdot z = x \cdot z + y \cdot z$ for all $x, y, z \in R$.
- (4) There exists element $0 \in R$, such that $x \cdot 0 = 0 \cdot x = 0$ for all $x \in R$.

Definition 2.2. Let S be a semihyperring, An element $a \in S$ is said to be regular if there exists an element $y \in S$ such that $a \in a y a$. A semihyperring S is said to be regular if each element of S is regular.

3 Semihyperring constructed from a $*$ -collection.

In this section, for a given commutative hypermonoid $(S, +)$, we define hyperoperation \cdot on S suitably so that $(S, +, \cdot)$ is a regular semihyperring.

Definition 3.1. Let S be a commutative hypermonoid. A collection of non-empty subsets $\{S_a : a \in S\}$ of S satisfying the following conditions is called a $*$ -collection if (i) $S_a = \{0\}$ if and only if $a = 0$, (ii) if $a \neq 0$ then $\{0, a\} \subseteq S_a$, (iii) $\bigcup_{x \in S_a} S_x = S_a$ for every $a \in S$, (iv) $S_a + S_a = S_a$ for every $a \in S$ and (v) $\bigcup_{x \in a+b} S_x = S_a + S_b$ for every $a, b \in S$.

Example 3.2. Consider the set $S = \{0, a, b\}$. If we define a hyperoperation $+$ on S as in the following table, then $(S, +)$ is a commutative hypermonoid.

+	0	a	b
0	0	a	b
a	a	$\{a, b\}$	$\{a, b\}$
b	b	$\{a, b\}$	$\{a, b\}$

Now it is easy to see that $S_0 = \{0\}; S_a = S; S_b = S$ is a $*$ -collection.

Example 3.3. Consider the set $S = \{0, a, b\}$. If we define a hyperoperation $+$ on S as in the following table, then $(S, +)$ is a commutative hypermonoid.

+	0	a	b
0	0	a	b
a	a	$\{a\}$	$\{a, b\}$
b	b	$\{a, b\}$	$\{b\}$

Now it is easy to see that $S_0 = \{0\}; S_a = S; S_b = S$ is a $*$ -collection. Now we show that $S_0 = \{0\}; S_a = \{a, 0\}; S_b = \{b, 0\}$ is another $*$ -collection.

For each $a \in S$, $\bigcup_{x \in S_a} S_x = \bigcup_{x \in \{a, 0\}} S_x = S_a \cup S_0 = \{a, 0\} \cup \{0\} = \{a, 0\} = S_a$. Also $S_0 + S_0 = \{0\} + \{0\} = \{0\} = S_0; S_a + S_a = \{0, a\} + \{0, a\} = \{0, a\} = S_a; S_b + S_b = \{0, b\} + \{0, b\} = \{0, b\} = S_b$. Further, for $a, b \in S$, we get $\bigcup_{x \in a+b} S_x = \bigcup_{x \in \{a, b\}} S_x = S_a \cup S_b = \{0, a, b\} = S_a + S_b$.

Example 3.4. Consider the set $S = \{0, a, b\}$. If we define a hyperoperation $+$ on S as in the following table, then $(S, +)$ is a commutative hypermonoid.

+	0	a	b
0	0	a	b
a	a	$\{0, a\}$	S
b	b	S	$\{0, b\}$

It is easy to show that $S_0 = \{0\}$; $S_a = S$ for every $a \neq 0 \in S$, is a $*$ -collection and $S_0 = \{0\}$; $S_a = \{a, 0\}$ for every $a \neq 0 \in S$ is another $*$ -collection

Example 3.5. Consider the set $S = \{0, a, b, c\}$. If we define a hyperoperation $+$ on S as in the following table, then $(S, +)$ is a commutative hypermonoid.

$+$	0	a	b	c
0	$\{0\}$	$\{a\}$	$\{b\}$	$\{c\}$
a	$\{a\}$	$\{a\}$	$\{a, b\}$	$\{a, c\}$
b	$\{b\}$	$\{a, b\}$	$\{b\}$	$\{b, c\}$
c	$\{c\}$	$\{a, c\}$	$\{b, c\}$	$\{c\}$

In this commutative hypermonoid, each one of the following is a $*$ -collection.

- $S_0 = \{0\}$; $S_a = \{a, 0\}$ for every $a \neq 0 \in S$,
- $S_0 = \{0\}$; $S_a = S$ for every $a \neq 0 \in S$,
- $S_0 = \{0\}$; $S_a = \{0, a\}$; $S_b = \{0, b, a\}$; $S_c = \{0, c, a\}$,
- $S_0 = \{0\}$; $S_a = \{0, a, b\}$; $S_b = \{0, b\}$; $S_c = \{0, c, b\}$,
- $S_0 = \{0\}$; $S_a = \{0, a, c\}$; $S_b = \{0, b, c\}$; $S_c = \{0, c\}$.

Theorem 3.6. Let S be a commutative hypermonoid with the additive identity 0 with the condition that $x + y = \{0\}$ for $x, y \in S$ implies either $x = 0$ or $y = 0$. Let $\{S_a : a \in S\}$ be a $*$ -collection on S . For $a, b \in S$, if we define a hypermultiplication on S as

$$a \cdot b = \begin{cases} S_a & \text{if } a \neq 0, b \neq 0, \\ 0 & \text{otherwise} \end{cases}$$

then $(S, +, \cdot)$ is a regular semihyperring.

Proof. From the definition of the hypermultiplication, $a \cdot 0 = 0 \cdot a = 0$ for all $a \in S$. Let $a, b, c \in S$. If any one of a, b, c is 0, then $a \cdot (b \cdot c) = \{0\} = (a \cdot b) \cdot c$. If $a \neq 0, b \neq 0$ and $c \neq 0$, then $a \cdot (b \cdot c) = a \cdot S_b = S_a$. Also, $(a \cdot b) \cdot c = S_a \cdot c = \bigcup_{x \in S_a} (x \cdot c) = \bigcup_{x \in S_a} S_x = S_a$. Thus $(a \cdot b) \cdot c = a \cdot (b \cdot c)$. Therefore, (S, \cdot) is a semihypergroup.

Let $a, b, c \in S$. If $a = 0$ or $b = 0$ or $c = 0$, then it is obvious that $a \cdot (b + c) = a \cdot b + a \cdot c$. Suppose $a \neq 0, b \neq 0$ and $c \neq 0$. If $0 \in b + c$, then $a \cdot (b + c) = S_0 \cup S_a = S_a = S_a + S_a = a \cdot b + a \cdot c$. If $0 \notin b + c$, then $a \cdot (b + c) = S_a = S_a + S_a = a \cdot b + a \cdot c$. Thus $a \cdot (b + c) = a \cdot b + a \cdot c$.

Now we prove $(a + b) \cdot c = a \cdot c + b \cdot c$. For, $(a + b) \cdot c = \bigcup_{x \in a+b} x \cdot c = \bigcup_{x \in a+b} S_x = S_a + S_b = a \cdot c + b \cdot c$. Therefore, $(a + b) \cdot c = a \cdot c + b \cdot c$. Thus $(S, +, \cdot)$ is a semihyperring.

Let $x \neq 0 \in S$. Now, for any $y \neq 0 \in S$, we have $x \in S_x = x \cdot y \subseteq x \cdot S_y = x \cdot (y \cdot x)$. Hence the semihyperring is regular. \square

Class of Semihyperrings from Partitions of a Set

Example 3.7. The semihyperring obtained by using the Theorem 3.1 in the Example 3.1 is as follows.

+	0	a	b
0	0	a	b
a	a	{a,b}	{a,b}
b	b	{a,b}	{a,b}

.	0	a	b
0	0	0	0
a	0	S	S
b	0	S	S

Example 3.8. The semihyperrings obtained by using the Theorem 3.1 in the Example 3.2 are as follows.

+	0	a	b
0	0	a	b
a	a	{a}	{a,b}
b	b	{a,b}	{b}

.	0	a	b
0	0	0	0
a	0	S	S
b	0	S	S

.	0	a	b
0	0	0	0
a	0	{0, a}	{0,a}
b	0	{0,b}	{0,b}

Example 3.9. The semihyperrings obtained by using the Theorem 3.1 in the Example 3.3 are as follows.

+	0	a	b
0	0	a	b
a	a	{0,a}	S
b	b	S	{0,b}

.	0	a	b
0	0	0	0
a	0	S	S
b	0	S	S

.	0	a	b
0	0	0	0
a	0	{0, a}	{0,a}
b	0	{0,b}	{0,b}

Theorem 3.10. Let S be a commutative hypermonoid with the additive identity 0 with the condition that $x + y = 0$ for $x, y \in S$ implies either $x = 0$ or $y = 0$. Let $\{S_a : a \in S\}$ be a $*$ -collection on S . For $a, b \in S$, if we define a hypermultiplication on S as

$$a \cdot b = \begin{cases} S_b & \text{if } a \neq 0, b \neq 0, \\ 0 & \text{otherwise} \end{cases}$$

then $(S, +, \cdot)$ is a regular semihyperring.

Proof. The proof follows by the same lines as in the Theorem 3.1. Let $x \neq 0 \in S$. Now, for any $y \neq 0 \in S$, we have $x \in S_x = y \cdot x \subseteq S_y \cdot x = (x \cdot y) \cdot x$. Hence the semihyperring is regular. \square

Theorem 3.11. *Let S be a commutative hypermonoid with the additive identity 0 such that $x + y = 0$ for $x, y \in S$ implies either $x = 0$ or $y = 0$. Let $\{S_a : a \in S\}$ be a $*$ -collection on S such that $S_a \cap S_b = X$ for all $a \neq 0, b \neq 0 \in S$ where X is a subset of S such that $X + X = X$. For $a, b \in S$, if we define a hypermultiplication on S as*

$$a \cdot b = \begin{cases} S_a \cap S_b = X & \text{if } a \neq 0, b \neq 0, \\ 0 & \text{otherwise} \end{cases}$$

then $(S, +, \cdot)$ is a regular semihyperring.

Proof. Since $0 \in S_a$ and $0 \in S_b$, we get $0 \in S_a \cap S_b$. This implies that the set X is non-empty. From the definition of hypermultiplication, $a \cdot 0 = 0 \cdot a = 0$ for all $a \in S$. Let $a, b, c \in S$. If any one of a, b, c is 0, then $a \cdot (b \cdot c) = \{0\} = (a \cdot b) \cdot c$. If $a \neq 0, b \neq 0$ and $c \neq 0$, then $a \cdot (b \cdot c) = X = (a \cdot b) \cdot c$. Thus $(a \cdot b) \cdot c = a \cdot (b \cdot c)$. Therefore, (S, \cdot) is a semihypergroup.

If $a = 0$ or $b = 0$ or $c = 0$, then it is obvious that $a \cdot (b + c) = a \cdot b + a \cdot c$. Suppose $a \neq 0, b \neq 0$ and $c \neq 0$ then, $a \cdot (b + c) = X = X + X = a \cdot b + a \cdot c$. Similarly we have $(a + b) \cdot c = X = a \cdot c + b \cdot c$. Thus $(S, +, \cdot)$ is a semihyperring. Let $x \neq 0 \in S$. Since $x \in S_x$, we have $x \in S_x = x \cdot x \subseteq x \cdot S_x = x \cdot (x \cdot x)$. Hence the semihyperring is regular. \square

Example 3.12. Using the Theorem 3.3 in the commutative hypermonoid given in the Example 3.4 and by using the following each $*$ -collection

$$S_0 = \{0\}; S_a = \{0, a\}; S_b = \{0, b, a\}; S_c = \{0, c, a\} \text{ with } X = \{0, a\},$$

$$S_0 = \{0\}; S_a = \{0, a, b\}; S_b = \{0, b\}; S_c = \{0, c, b\} \text{ with } X = \{0, b\},$$

$S_0 = \{0\}; S_a = \{0, a, c\}; S_b = \{0, b, c\}; S_c = \{0, c\}$ with $X = \{0, c\}$, we get three hypermultiplications so that we get three semihyperrings.

4 Semihyperrings induced by a Partition.

In this section we show that a partition of a non-empty set S induces a hyperaddition $+$ such that, $(S, +)$ is a commutative hypermonoid and also the partition induces a $*$ -collection. Using this $*$ -collection, we define hypermultiplication \cdot on the set S , so that $(S, +, \cdot)$ a regular semihyperring.

Theorem 4.1. *Let S be any non-empty set and $\{P_\alpha\}_{\alpha \in \Lambda}$ be a partition of S , where Λ is an ordered set with the least element $\alpha_0 \in \Lambda$ and P_{α_0} be a singleton set, say, $\{0\}$. Define a hyperaddition " $+$ " on S as follows: For all $a \in S$, $0 + a = a + 0 = \{a\}$. For $a \neq 0, b \neq 0 \in S$, suppose $a \in P_\alpha$ and $b \in P_\beta$ and $\gamma = \max\{\alpha, \beta\}$,*

$$a + b = \begin{cases} P_\gamma & \text{if } \alpha \neq \beta, \\ P_\alpha = P_\beta & \text{if } \alpha = \beta \end{cases}$$

Class of Semihyperrings from Partitions of a Set

Then (i) $(S, +)$ is a commutative monoid and (ii) the partition $\{P_\alpha\}_{\alpha \in \Lambda}$ induces a $*$ -collection.

Proof. It is clear that $a + b = b + a$ for all $a, b \in S$. Let $a, b, c \in S$. Suppose that $a \in P_\alpha$, $b \in P_\beta$ and $c \in P_\gamma$, where $\alpha, \beta, \gamma \in \Lambda$.

Case 1 : Suppose $\alpha < \beta < \gamma$.
Then $a + (b + c) = a + P_\gamma = P_\gamma$. Also, $(a + b) + c = P_\beta + c = P_\gamma$. Therefore, $a + (b + c) = (a + b) + c$.

Case 2 : Suppose $\beta < \alpha < \gamma$.
Then $a + (b + c) = a + P_\gamma = P_\gamma$. Also, $(a + b) + c = P_\alpha + c = P_\gamma$. Therefore, $a + (b + c) = (a + b) + c$.

Case 3 : Suppose $\alpha < \gamma < \beta$.
Then $a + (b + c) = a + P_\beta = P_\beta$. Also, $(a + b) + c = P_\beta + c = P_\beta$. Therefore, $a + (b + c) = (a + b) + c$.

Case 4 : Suppose $\gamma < \alpha < \beta$.
Then $a + (b + c) = a + P_\beta = P_\beta$. Also, $(a + b) + c = P_\beta + c = P_\beta$. Therefore, $a + (b + c) = (a + b) + c$.

Case 5 : Suppose $\gamma < \beta < \alpha$.
Then $a + (b + c) = a + P_\beta = P_\alpha$. Also, $(a + b) + c = P_\alpha + c = P_\alpha$. Therefore, $a + (b + c) = (a + b) + c$.

Case 6 : Suppose $\beta < \gamma < \alpha$.
Then $a + (b + c) = a + P_\gamma = P_\alpha$. Also, $(a + b) + c = P_\alpha + c = P_\alpha$. Therefore, $a + (b + c) = (a + b) + c$.

Case 7 : Suppose $\alpha = \beta < \gamma$.
Then $a + (b + c) = a + P_\gamma = P_\gamma$. Also, $(a + b) + c = P_\beta + c = P_\gamma$. Therefore, $a + (b + c) = (a + b) + c$.

Case 8 : Suppose $\gamma < \alpha = \beta$.
Then $a + (b + c) = a + P_\alpha = P_\alpha$. Also, $(a + b) + c = P_\alpha + c = P_\alpha$. Therefore, $a + (b + c) = (a + b) + c$.

Case 9 : Suppose $\alpha = \gamma < \beta$.
Then $a + (b + c) = a + P_\beta = P_\beta$. Also, $(a + b) + c = P_\beta + c = P_\beta$. Therefore, $a + (b + c) = (a + b) + c$.

Case 10 : Suppose $\beta < \alpha = \gamma$.
Then $a + (b + c) = a + P_\alpha = P_\alpha$. Also, $(a + b) + c = P_\alpha + c = P_\alpha$. Therefore, $a + (b + c) = (a + b) + c$.

Case 11 : Suppose $\beta = \gamma < \alpha$.
Then $a + (b + c) = a + P_\gamma = P_\alpha$. Also, $(a + b) + c = P_\alpha + c = P_\alpha$. Therefore, $a + (b + c) = (a + b) + c$.

Case 12 : Suppose $\alpha < \beta = \gamma$.
Then $a + (b + c) = a + P_\gamma = P_\gamma$. Also, $(a + b) + c = P_\beta + c = P_\gamma$. Therefore, $a + (b + c) = (a + b) + c$.

Case 13 : Suppose $\alpha = \beta = \gamma$.
 Then $a+(b+c) = P_\alpha = P_\beta = P_\gamma = (a+b)+c$. Therefore, $a+(b+c) = (a+b)+c$.
 Thus the hyperoperation $+$ is associative. So, $(S, +)$ is a commutative hypermonoid. Let $S_0 = P_{\alpha_0} = \{0\}$. For $a \neq 0 \in S$, then $S_a = \bigcup_{\alpha_0 \leq t \leq \alpha} P_t$ where $a \in P_\alpha$. It is clear that $S_a = \bigcup_{x \in S_a} S_x$. For $a \neq 0 \in S$, and $a \in P_\alpha$, then $S_a + S_a = \bigcup_{\alpha_0 \leq t \leq \alpha} P_t + \bigcup_{\alpha_0 \leq t \leq \alpha} P_t = \bigcup_{\alpha_0 \leq t \leq \alpha} P_t = S_a$. Also $S_0 + S_0 = \{0\} + \{0\} = \{0\} = S_0$. If either $a = 0$ or $b = 0$, then $\bigcup_{x \in a+b} S_x = S_a + S_b$. Let $a \neq 0, b \neq 0 \in S$. Then $a \in P_\alpha$ and $b \in P_\beta$ for some $\alpha, \beta \in \Lambda$.

Case 1 : Suppose $\alpha \neq \beta$, say $\alpha < \beta$, then $a + b = P_\beta$. Now $x \in a + b$ implies $x \in P_\beta$. Therefore, $S_x = \bigcup_{\alpha_0 \leq t \leq \beta} P_t$. Hence

$$\bigcup_{x \in a+b} S_x = \bigcup_{x \in a+b} \left(\bigcup_{\alpha_0 \leq t \leq \beta} P_t \right) = \bigcup_{\alpha_0 \leq t \leq \alpha} P_t = \bigcup_{\alpha_0 \leq t \leq \alpha} P_t + \bigcup_{\alpha_0 \leq t \leq \beta} P_t = S_a + S_b.$$

Case 2 : Suppose $\alpha = \beta$ then $a + b = P_\alpha$. Therefore, $\bigcup_{x \in a+b} S_x = \bigcup_{x \in P_\alpha} S_x = S_a + S_b$. Therefore, $\bigcup_{x \in a+b} S_x = S_a + S_b$. Thus $\{S_a : a \in S\}$ is a $*$ -collection. □

Remark 4.2. Let S be any non-empty set and $x_0 \in S$. Let $P_0 = \{x_0\}$ and $\{P_1, P_2, P_3, \dots, P_n, \dots\}$ be a partition of $S \setminus \{x_0\}$. Then the partition $\{P_0, P_1, P_2, \dots, P_n, \dots\}$ of S induces a hyperoperation $+$ on S so that $(S, +)$ is a commutative hypermonoid and $\{P_0, P_1, P_2, \dots, P_n, \dots\}$ induces a $*$ -collection.

Theorem 4.3. Let S be any non-empty set and $\{P_\alpha\}_{\alpha \in \Lambda}$ be a partition of S , where Λ is an ordered set with the least element α_0 and P_{α_0} is a singleton set. Then the partition induces a semihyperring.

Proof. By the Theorem 4.1, the partition induces a hyperaddition $+$ such that $(S, +)$ is a commutative hypermonoid and it also induces a $*$ -collection. Hence by the Theorem 3.1, we get a regular semihyperring. □

Example 4.4. We illustrate the construction of semihyperrings from the following examples. Let $S = \{0, a, b\}$. Consider a partition $P_1 = \{0\}, P_2 = \{a\}, P_3 = \{b\}$ of S . Here, the indexing set is $\Lambda = \{1, 2, 3\}$ which is an ordered set. The commutative hypermonoid induced by this partition is given by the following Caley table.

$+$	0	a	b
0	0	a	b
a	a	$\{a\}$	$\{b\}$
b	b	$\{b\}$	$\{b\}$

Class of Semihyperrings from Partitions of a Set

The $*$ -collection induced by this partition is $S_0 = \{0\}$, $S_a = \{0, a\}$, $S_b = \{0, a, b\}$ and the hypermultiplication induced by the $*$ -collection is given in the Cayley table.

.	0	a	b
0	0	0	0
a	0	$\{0, a\}$	$\{0, a\}$
b	0	$\{0, a, b\}$	$\{0, a, b\}$

Example 4.5. Let $S = \{0, a, b\}$. Consider a partition $P_1 = \{0\}$, $P_2 = \{b\}$, $P_3 = \{a\}$ of S . Here, the indexing set is $\Lambda = \{1, 2, 3\}$ which is an ordered set. The commutative hypermonoid induced by this partition is given by the following Cayley table.

+	0	a	b
0	0	a	b
a	a	$\{a\}$	$\{a\}$
b	b	$\{a\}$	$\{b\}$

The $*$ -collection induced by this partition is $S_0 = \{0\}$, $S_a = \{0, a, b\}$, $S_b = \{0, b\}$ and the hypermultiplication induced by the $*$ -collection is given in the Cayley table.

.	0	a	b
0	0	0	0
a	0	$\{0, a, b\}$	$\{0, a, b\}$
b	0	$\{0, b\}$	$\{0, b\}$

Example 4.6. Let $S = \{0, a, b\}$. Consider a partition $P_1 = \{0\}$, $P_2 = \{a, b\}$ of S . Here, the indexing set is $\Lambda = \{1, 2\}$ which is an ordered set. The commutative hypermonoid induced by this partition is given by the following Cayley table.

+	0	a	b
0	0	a	b
a	a	$\{a, b\}$	$\{a, b\}$
b	b	$\{a, b\}$	$\{a, b\}$

The $*$ -collection induced by this partition is $S_0 = \{0\}$, $S_a = \{0, a, b\}$, $S_b = \{0, a, b\}$ and the hypermultiplication induced by the $*$ -collection is given in the Cayley table.

.	0	a	b
0	0	0	0
a	0	$\{0, a, b\}$	$\{0, a, b\}$
b	0	$\{0, a, b\}$	$\{0, a, b\}$

Thus we have a regular semihyperring.

Conclusion : In the section 3 of this paper, for the given commutative hypermonoid, given $*$ -collection, we construct three semihyperrings. In the section 4, by the Theorem 4.1, a partition of a set S induces a hyperaddition $+$ such that $(S, +)$ is a commutative hypermonoid and it also induces a $*$ -collection. Hence by the Theorem 3.1, we get a semihyperring. Thus we get semihyperrings depending on the partitions of the set satisfies the conditions of the Theorem 4.2. All the semihyperrings so constructed are regular.

References

- [1] A. Asokkumar, *Hyperlattice formed by the idempotents of a hyperring*, Tamkang J. Math., 38(3) (2007), 209–215.
- [2] A. Asokkumar, M. Velrajan, *Characterizations of regular hyperrings*, Italian Journal of Pure and Applied Mathematics - N. 22(2007), 115–124.
- [3] J. Chvalina, S. Hoskova, *Abelization of proximal Hv-rings using graphs of good homomorphisms and diagonals of direct squares of hyperstructures*, Proc. 8th International Congress on Algebraic Hyperstructures and Applications, Samothraki, Greece (2002), Edited T. Vougiouklis, Spanidis Press, Greece, (2003).
- [4] P. Corsini, *Hypergroupes reguliers et hypermodules*, Ann. Univ. Ferrara, Sc. Mat. Ser VII, v. XX, 1975.
- [5] P. Corsini, *Prolegomena of hypergroup theory*, Second edition, Aviani editor, 1993.
- [6] P. Corsini, V. Leoreanu, *Applications of Hyperstructure Theory*, Kluwer Academic Publishers, Advances in Math., 2003, vol. 5.
- [7] B. Davvaz, *Isomorphism theorems of hyperrings*, Indian J. pure appl. math., 35 (3), 321–331, March 2004.
- [8] M. De Salvo, *Iperanelli ed ipercorpi*, Ann.Sci.Univ.Clermont II, Ser. Math. Fasc., 22 (1985), 89–107.
- [9] S. Hoskova, *Abelization of quasi-hypergroups, Hv-rings and transposition hv-groups as a categorial reflection*, Global Journal of Pure and Applied Mathematics, Vol. 3(2), (2007), 105–112.

Class of Semihyperrings from Partitions of a Set

- [10] M. Krasner, *A class of hyperrings and hyperfields*, Int. J. Math and Math. Sci., 2 (1983), 307–312.
- [11] F. Marty, *Sur une generalization de la notion de groupe*, 8th Congress Math. Scandenaves, Stockholm, (1934), 45–49.
- [12] G. G. Massouros, *The hyperringoid*, Multi.Val.logic., Vol 3 (1998), 217–234.
- [13] J. Mittas, *Hypergroupes canoniques*, Mathematica Balkanica t. 2 (1972), 165–179.
- [14] A. Rahnamai Barghi, *A class of hyperrings*, Journal of Discrete Mathematical Sciences & Cryptography, 6(2003), 227–233.
- [15] R. Rota, *Strongly distributive multiplicative hyperrings*, J. Geom. 39 (1990), 130–138.
- [16] D. Stratigopoulos, *Certaines classes d'hypercorpes et hyperanneaux*, Atti Convegno su ipergruppi, altri strutture multivoche e applicazioni, Editor Corsini, Udine, 1985.
- [17] M. Velrajan, A. Asokkumar, *Construction of inclusive distributive hyperrings*, Algebra and its Applications, Editors: Afzal Beg, Mohd. Ashraf, Narosa Publishing House, New Delhi, India (2011), 167–176.
- [18] T. Vougiouklis, *Hyperstructures and their representations*, Hadronic Press, Inc., 115, Palm Harber, USA (1994).

